TS / Magnet Design and Fabrication
Specification # 5520-TR-333138

July 31, 1996

Rev.  D


	f
	Fermi National Accelerator Laboratory

Batavia, IL 60510

	FERMI MAIN INJECTOR DIPOLE

240" 'A' BEAM TUBE & MAGNET COVER INSTALLATION TRAVELER



	Reference Drawing(s)

240" 'A' Dipole Magnet/Beam Tube Assembly

5520-ME-318523



	Budget Code:     
	Project Code:     

	Released by:
	Date:

	Prepared by:  T. Skweres

	Title
	Signature
	Date

	TS / MDF Process Engineering
	
	

	TS / MDF Assembly
	
	

	TS / MDF Tooling
	
	

	TS / MDF Dipole Designer
	
	

	TS / MDF Fabrication Manager
	
	

	TS / MDF Device Design
	
	

	TS / MDF Group Leader
	
	

	TS / QA/QC Manager
	
	

	TS / Main Injector Magnet Project Manager
	
	

	AD / Main Injector Magnet Liaison Project Physicist
	
	


Revision Page

	Revision
	Revision Description
	Date

	
	
	

	A
	Changed the part number in Steps 7.2 and 7.4 for the 1/4" - 28 UNC X 1" Long Hex Head Cap Screws from MX-XXXXXX to MA-331871, changed the screw length from 1" to 3/4" and UNC to UNF as per ER-5738.  Changed Part No. from 331872 to 176441 in Step 5.4, also added the length of the 3/8 - 16 UNC (3/4").  TRR No. 0514
	5/16/96

	
	
	

	B
	Changed Part Numbers in Step 7.1 Old No. MD-331840 New No. MD-331897 (Center Plugs), Step 7.2 Old No. MD-331848 New No. MD-331898 (Reversible End Cover), Step 7.3 Old No. MD-331840 New No. MD-331897 (Center Plugs), Step 7.4 Old No. MD-331848 New No. MD-331898 (Reversible End Cover).  Incorporated notes for Section 7.0 "Ensure the center leg of the Reversible End Covers are behind the Center Plugs" and "Install the Center Plugs so they are flush with the Coil Surface".  Refer to ECO 4063.  

TRR No. 0530
	6/19/96

	
	
	

	C
	Incorporated a step (7.1 and 7.4) cleaning of the ends of the Magnet Prior to installing the End Covers.  Placed a bold X in the margin in Section 8.0 to designate the steps as a Lead Person Sign Off.  TRR No. 0544
	7/22/96

	
	
	

	D
	Moved Step 5.4 to 7.4 because of interference during installation.  Renamed Section 8.0 Tunnel Close Out to Production Close Out.  TRR No. 0546
	7/31/96

	
	
	

	
	
	

	
	
	

	
	
	


Ensure appropriate memos and specific instructions are placed with the traveler before issuing the sub traveler binder to production.

1.0
General Notes

1.1
White (Lint Free) Gloves (Fermi stock 2250-1800) or Surgical Latex Gloves (Fermi stock 2250-2494) shall be worn by all personnel when handling all product parts after the parts have been prepared/cleaned.


1.2
All steps that require a sign-off shall include the Technician/Inspectors first initial and full last name.


1.3
No erasures or white out will be permitted to any documentation.  All incorrectly entered data shall be corrected by placing a single line through the error, initial and date the error before adding the correct data.


1.4
All Discrepancy Reports issued shall be recorded in the left margin next to the applicable step.


1.5 
All personnel performing steps in this traveler must have documented training for this traveler and associated operating procedures.


1.6
Personnel shall perform all tasks in accordance with current applicable ES&H guidelines and those specified within the step.


1.7
Cover the magnet assembly with green Herculite (Fermi stock 1740-0100) when not being serviced or assembled.


1.8
To determine the Magnet Lead End, stand on concave side of the magnet, the lead end is located to your right.

2.0
Parts Kit List

2.1
Attach the completed Parts Kit List for the 240" 'A' Dipole Beam Tube & Magnet Cover Installation to this traveler.  Ensure that the serial number on the Parts Kit List matches the serial number of this traveler.  Verify that the Parts Kit received is complete.



Process Engineering/Designee



Date


2.2
List all component serial numbers below.




Magnet Serial Number
(ME-274896)








Magnet Serial Number should match Serial Number at the base of this Traveler.




Beam Tube Assembly (MD-331589)







Attach the Leak Detection Sticker or a facsimile to this traveler.


 EMBED Word.Picture.8  




Assembly/Designee




Date

3.0
Magnet Preparation

3.1
Using the Beam Tube Support Block Insertion Tool (MX-XXXXXX) insert the Beam Tube Support Block (MC-318672) in the Beam Tube Support (MC-318673).



Technician(s)





Date

X
3.2
Verify that the Beam Tube Support Block (MC-318672) has been installed correctly.



Lead Person





Date

4.0
Beam Tube Preparation

4.1
Verify that the Beam Tube Serial Number matches the one recorded in Step 2.2.



Technician(s)





Date


4.2
Place the 240" A/B Beam Tube Assembly (MD-331589) on the Roller Stands as per the Beam Tube Insertion Setup (ME-331857).



Technician(s)





Date


4.3
Install the Beam Tube Clamp/Plug Assembly (MC-331858) on each end of the 240" A/B Beam Tube Assembly (MD-331589) as per the Beam Tube Insertion Set-Up (ME-331857).



Note(s):




Use Apiezon L Vacuum Grease (Fermi Stock 2150-5200) as required.



Technician(s)





Date


4.4
Connect the 240" A/B Beam Tube Assembly (MD-331589) Ion Pump Port to the vacuum pump using the Flexible Vacuum Hose as per the Beam Tube Insertion Set-Up (ME-331857).



Technician(s)





Date


4.5
Pump down the 240" A/B Beam Tube Assembly (MD-331589) to at least 5 microns.



Technician(s)





Date

5.0
Beam Tube Installation & Alignment

5.1
Install the 240" A/B Beam Tube Assembly (MD-331589) into the magnet from the return end as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Note(s):

Remove the Clamp Weldment (MB-331859) from the Non-Ion Pump Port End of the Beam Tube.




Ensure that while inserting the Beam Tube that the Beam Tube doesn't 


contact the Beam Tube Support Block (MC-318672).



Technician(s)





Date


5.2
Position the Beam Tube 5.375" ± .030" from the return end of the magnet as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Technician(s)





Date


5.3
Install the Beam Tube Supports (MC-274687) at the lead end and the return end of the magnet on the convex side against the Coil Support Blocks as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Note(s):




Ensure that while pulling the Beam Tube into position that vacuum is not lost.




Ensure that the Beam Tube Ion Port is parallel to the parting plane 


of the magnet before letting up the vacuum.


 EMBED Word.Picture.8  


Top View



Technician(s)





Date

X
5.4
Measure and record the position of the Beam Tube from the return end of the magnet.  Measure and record the clearance between the Beam Tube and the Coils using a Thickness Gage/Feeler Stock (Starrett Part No. 667 or equivalent).

	Dimension
	Limit
	Actual Measurement
	Pass
	Fail

	Beam Tube to Return End of the Magnet
	5.375" ± .030"
	
	
	

	Beam Tube to Upper Coil Lead End
	For Reference Only
	
	
	

	Beam Tube to Lower Coil Lead End
	For Reference Only
	
	
	

	Beam Tube to Upper Coil Return End
	For Reference Only
	
	
	

	Beam Tube to Lower Coil Return End
	For Reference Only
	
	
	




Lead Person





Date

X
5.5
Verify that the Beam Tube Supports (MC-274687) at the lead end and the return end of the magnet on the convex side are against the Coil Support Blocks as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Lead Person





Date

6.0
Removal of the Tooling & Clean-Up

6.1
Turn off the pump.  Remove the Beam Tube Vacuum Tooling; the Beam Tube Clamp/Plug Assembly (MC-331858) on each end of the Beam Tube and the Flexible Vacuum Hose attached to the Ion Pump Port.



Technician(s)





Date


6.2
Clean the Apiezon L Vacuum Grease (Fermi Stock 2150-5200) from the tooling and the Beam Tube with Isopropyl Alcohol (Fermi stock 1920-0300) and Heavy Disposable Wipers 
(Fermi stock 1660-2600 or equivalent).



Technician(s)





Date

7.0
Magnet Cover Installation

7.1
Using a vacuum or other appropriate methods clean the Lead End Area prior to installing the Lead End - End Cover Assembly.



Technician(s)





Date


7.2
Install the Lead End - End Cover Rubber Plugs (MD-331897) (Qty. 2) as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Note(s):




Install the Center Plugs so they are flush with the Coil Surface.



Technician(s)





Date


7.3
Install the Lead End - Magnet End Cover Assembly (MD-331898) (Qty. 2) using 1/4" - 28 UNF X 3/4" Long Hex Head Cap Screws (MA-331871), 1/4" Flat Washers (MA-318689) (Qty. 2) as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Note(s):




Ensure the center leg of the Reversible End Covers are behind the Center Plugs.



Technician(s)





Date


7.4
Install the Ion Support Parts as listed below;

Ion Pump Support Bar (MC-318240) using 3/8" - 16 X 3/4" UNC Hex Head Cap Screws

 (MA-176446) (Qty. 2), and 3/8" Flat Washers (MA-176440) (Qty. 2).

Attach the Ion Pump Support Bracket (MC-318241) to the Ion Pump Support Bar (MC-318240) using 1/4" - 20 UNC X 1" Long Hex Head Cap Screws (MA-176441) (Qty. 4), 1/4" Flat Washers (MA-318689) (Qty. 4), and 1/4" - 20 UNC Hex Head Nuts (MA-331253) (Qty. 4).

Attach the Insulator Bracket (MC-318266) to the Ion Pump Support Bracket (MC-318241) using 1/4" - 20 UNC X 1" Long Hex Head Cap Screws (MA-176441) (Qty. 2), 1/4" Flat Washers
 (MA-318689) (Qty. 2), and 1/4" - 20 UNC Hex Head Nuts (MA-331253) (Qty. 2).



Technician(s)





Date


7.5
Using a vacuum or other appropriate methods clean the Return End Area prior to installing the Return End - End Cover Assembly.



Technician(s)





Date


7.6
Install the Return End - End Cover Rubber Plugs (MD-331897) (Qty. 2) as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Note(s):




Install the Center Plugs so they are flush with the Coil Surface.



Technician(s)





Date


7.7
Install the Return End - Magnet End Cover Assembly (MD-331898) (Qty. 2) using 1/4" - 28 UNF X 3/4" Long Hex Head Cap Screws (MA-331871), 1/4" Flat Washers (MA-318689) (Qty. 2) as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Note(s):




Ensure the center leg of the Reversible End Covers are behind the Center Plugs.



Technician(s)





Date

X
7.8
Verify that the Magnet Covers are installed correctly as per the 240" 'A' Dipole Magnet/Beam Tube Assembly (ME-318523).



Lead Person





Date

8.0
Production Close-Out
X
8.1
Review the FMI 240" 'A' Dipole Beam Tube & Magnet Cover Installation Traveler (5520-TR-333138) ensure that the document is complete and all Discrepancy Reports, Incoming Inspection Tag and the Leak Detection Sticker are attached.



Lead Person





Date

X
8.2
Attach the Process Engineering "Ready to Ship" Sticker next to the Magnet Identification Label at the Lead End.  Return the Traveler to Process Engineering.



Lead Person





Date

9.0
Production Complete

XXX
9.1
Process Engineering verify that the FMI 240" 'A' Dipole Beam Tube & Magnet Cover Installation Traveler (5520-TR-333138) is accurate and complete.  This shall include a review of all steps to ensure that all operations have been completed and signed off.  Ensure that all Discrepancy Reports, Nonconformance Reports, Repair/Rework Forms, Deviation Index and dispositions have been reviewed by the Responsible Authority for conformance before being approved.



Comments:



Process Engineering/Designee



Date

XXX
9.2
Assembly verify that the FMI 240" 'A' Dipole Beam Tube & Magnet Cover Installation Traveler (5520-TR-333138) is accurate and complete.  This shall include a review of all steps to ensure that all operations have been completed and signed off.  Ensure that all Discrepancy Reports, Nonconformance Reports, Repair/Rework Forms, Deviation Index and dispositions have been reviewed by the Responsible Authority for conformance before being approved.



Comments:



Assembly/Designee




Date

10.0
Input the Beam Tube Serial Number in the Dipole Database.  Attach a copy of Step 2.2 (Serial Numbers 
and the Leak Detection Sticker) and Step 5.5 (Beam Tube Position Measurements) to the Summary Book in 
the appropriate section.



Process Engineering/Designee



Date

FMI 240" 'A' Dipole Beam Tube & Cover Installation



Magnet Serial No.



Page 
 of 14


_1054551584.unknown

_1054551585.unknown

